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December, 2022 

BECE-002 : INDIAN ECONOMIC DEVELOPMENT 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer all the Sections as per the 

instructions given in each Section. 

Section—A 

Note : Answer any two questions from this Section 

in about 500 words each. 2×20 = 40 

1. Highlight the importance of investments in an 
emerging economy like India. Also examine the 

trends in saving and investment in India since 
2000. 
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2. What do you mean by ‘inflation targeting’ ? 
How far the Reserve Bank of India has been 
successful in pursuit of this objective ? 

3. Examine the nature of present agricultural 
crisis in India. Suggest suitable measures to 
give sustainable relief to the farmers. 

4. Examine the role of public sector enterprises in 
the economic development of India. 

Section—B 

Note : Answer any four questions from this Section 
in about 250 words each. 4 × 12 = 48 

5. Why did the classical economists consider 
foreign trade as an ‘engine of growth’ ? Also 
explain in brief the concept of import 
substitution industrialisation. 

6.  State the principal goals of economic reforms 
in India. How far have these been achieved ? 

7.  What do you mean by ‘fiscal federalism’ ? What 
role has been played by The Finance 
Commissions in promoting it in India ? 
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8. What measures would you suggest to generate 
more employment opportunities in India ?  

9. Discuss the principal features of foreign trade 
policy adopted in India. 

10. What do you mean by ‘labour flexibility’ ? 
Discuss its advantages. 

11. State the objectives of the World Trade 
Organisation. How far have these been 
achieved ? 

Section—C 

12. Distinguish between any two of the following : 

2×3=6 
(i) Balance of Trade and Balance of Payments 

(ii) Labour force and Work force 

(iii) Consolidation of holdings and Ceiling on 
holdings 

13. Write short notes on any two of the following : 
2×3=6 

(i) Need for crop insurance 
(ii) Emerging water crisis 
(iii) Pollution 
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      BECE-002 

Lukrd mikf/ dk;ZØe  

(ch-Mh-ih-) 

l=kkar ijh{kk  

fnlEcj] 2022 

ch-bZ-lh-bZ--002 % Hkkjrh; vkfFkZd fodkl 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % izR;sd Hkkx ls funsZ'kkuqlkj iz'uksa ds mÙkj nhft,A   

Hkkx&d 

uk sV % bl Hkkx ls fdUgha n k s iz'uksa ds mÙkj nhft,A 'kCn& 

lhek 500 izR;sdA 2×20=40 

1- Hkkjr tSlh mnh;eku vFkZO;oLFkk eas fuos'k ds egRo 

ij izdk'k Mkfy,A o"kZ 2000 ls Hkkjr esa cpr vkSj 

fuos'k dh izo`fÙk;ksa dh leh{kk Hkh dhft,A 
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2- ^LiQhfr y{; fu/kZj.k* ls vki D;k le>rs gSa \ 

Hkkjrh; fjt+oZ cSad bl mn~ns'; dh flf¼ esa dgk¡ rd 

liQy jgk gS \ 

3- Hkkjr esa orZeku d`f"k ladV ds Lo:i dh O;k[;k 

dhft,A fdlkuksa dks /kj.kh; Lrj ij jkgr iznku djus 

ds mfpr mik; Hkh lq>kb,A 

4- Hkkjr ds vkfFkZd fodkl esa lkoZtfud mideksa dh 

Hkwfedk dh leh{kk dhft,A 

Hkkx&[k 

uk sV % bl Hkkx ls fdUgha p kj iz'uksa ds mÙkj nhft,A 

'kCn&lhek 250 izR;sdA 4×12 =48 

5- izfrf"Br vFkZ'kkL=kh fons'kh O;kikj dks ^lao`f¼ dk 

batu* D;ksa ekurs Fks \ la{ksi esa ^vk;kr izfrLFkkid 

vkS|ksxhdj.k* dh ladYiuk Hkh le>kb,A 
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6- Hkkjr eas vkfFkZd lq/kjksa ds eq[; y{; crkb,A mudh 

izkfIr fdl lhek rd gks ikbZ gS \ 

7- ^jktdks"kh; la?kokn* ls vkidk D;k vfHkizk; gS \ 

Hkkjr esa bl fopkj dks c<+kok nsus esa foÙk vk;ksxksa dh 

D;k Hkwfedk jgh gS \ 

8- Hkkjr esa jkstxkj ds vf/d volj iSnk djus ds fy, 

vki D;k mik; lq>k;saxs \ 

9- Hkkjr esa viukbZ xbZ fons'k O;kikj uhfr dh eq[; 

fo'ks"krkvksa ij ppkZ dhft,A 

10- ^Je uE;rk* ls vkidk D;k vfHkizk; gS \ blds 

ykHkksa ij ppkZ dhft,A 
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11- fo'o O;kikj laxBu ds mn~ns'; crkb,A bUgsa fdl 

lhek rd izkIr fd;k tk ldk gS \ 

 Hkkx&x  

12- fuEufyf[kr esa ls fdUgha n k s ds chp Hksn Li"V 

dhft, %   2×3=6 

(i) O;kikj 'ks"k vkSj Hkqxrku 'ks"k 

(ii) Je 'kfDr vkSj dk;Z cy 

(iii) pdcanh vkSj tksrksa dh lhek 

13- fuEufyf[kr esa ls fdUgha n k s ij fVIif.k;k¡ fyf[k, % 
2×3=6 

(i) iQly chek dh vko';drk 

(ii) mHkjrk gqvk ty ladV 

(iii) iznw"k.k 
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